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BACHELOR OF SCIENCE (B. SC.)
. Term-End Examination
June, 2020
LIFE SCIENCE

LSE-05 : ANIMAL PHYSIOLOGY AND
PLANT PHYSIOLOGY

Time : 2 Hours Maximum Marks : 50

Note : Use separate answer sheets for Part I and
Part IT. Be brief and precise in your answers.
Draw neat and labelled diagrams wherever

necessary.

Part—I (Marks : 25)
(Animal Physiology)

Note : Attempt five questions in all. Question No. 1

is compulsory.

1. (a) Differentiate between the following: 1each
(i) Tidal Volume and Residual Volume
(ii) Guanotelism and Uricotelism
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' (b) Match the items given in column A with

those in column B : 1 each
Column A Column B
(i) Glucagon (a) Growth and
' metabolism

(1) Angictensin I (b) Increases blood
" glucose by Increasing

glycogenolysig

(iii) Thyroxine () Stimulates
aldosterone synthesis
in adrenal cortex

(a) With the help of a well labelled diagram,
describe a neuron. 3

() List any four types of glial cells of the

neurons system, 2

(a) Discuss the actions of estrogen. 4

(b) Name the four stages of estrous cycle, 1

Describe temperature regulation by heat

production and heat loss in homeotherms. 5

How does osmoregulation take place in marine
vertebrates ? 5
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Write notes on any ifwo of the
following : 2§each

(a) _Oxygen. dissociation curve in humans

(b) -Carbohydrate digestion

(¢) Haemostatic (clotting) mechanisms

(d Neﬁliridia of worms

Describe, how gills of fish help in ventilation. 5
Describe the me_chénism%f muscle contraction.

. | ;]
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Part—I1 (Marks : 25)
(Plant Physioclogy)

Note : Question No. 9 is compulsory. Attempt any

9.

(a)

b

four questions from question Nos. 10 to 14,
Mark true or false for the following

statements ; -;— each

(i} Rhizobium-legume association during
biclogical Ne-fixation is a host-parasite
relationship.

(i) NAA is a natural auxin,

(i} Zn is actively involved in the nitrogen

metabolism of the plant.

(v} Sorghum is an example of non-

Photorespiring C; plant.
Expand any twe of the following : }2- each
(i) PEP
@) FC
(iii) DNP

(iv) PAR
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(¢) Define any two of the following : 1 each

(1) Stomatal Index
(i) Vernalization

(i) Emerson-Enhancement Effect

10. Write short notes on any two of the following :

(a)
(b)
(0

-

2l each
2

Chemical Potentiél
RedDrop

Ethylene—a plant growth regulator

- 11, Explain Miinch model for phlo.em transport. 5

12. (a)

(b)

13. (a)

(b)

How do plants respond to water stress ?

ol
2

How were phytochromes discovered ? 2%

Explain the role of K-ions in stomatal

~ opening and closing. 3

Discuss the role of calcium or phosphorus

as plant nutrient. 2
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14. Explain briefly the role of the following
scientists in the field of photosynthesis : 5

(1) C..B. Van Neil

(ii) S.Reuben and M. D. Kamen
(iii) Robert Hill

(iv) M. Calvin

(v) M. D. Hatch and C. R. Slack
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